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1. (A) (1) ,     2:2:1   -    
 .  31-03-2018        : 7 

- ` - ` 

 :   –  1,20,000 

   90,000  - 45,000 

   45,000   30,000 

    30,000 1,65,000  60,000 

  22,500    7,500 

  () 37,500 -    30,000 

 67,500   

    

 2,92,500  2,92,500 

   . 01-04-2018      .    ` 9,000 
         . 

       :  `  

      60,000  

      45,000  

      65,700  

      37,800  

      ` 6,000 . 

   “  ”         . 
 
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  (1)   : “  ”  7 

  (2)     . 01-05-2018    . 01-01-2018   
    . . 31-12-2018      
           
 . 7 

   -       : 

    ` 

      63,900 

    - 24,000  

      1,56,000  

     6,000  

     20,000  

     37,800 

   01-07-2018    50,000  

     (25% ) 43,200  

     10,000  

    (` 1,100 . 01-05-2018  ) 3,000  

       

   (  . 01-06-2018   )  6,000  

     : 

   (i)   ` 15,000   . 

   (ii)             
   . 

   (iii)   ` 3,00,000  

 

  (2)                
. 7 
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 (B)     : ( ) 4 

  (1) P, Q  R  6 : 4 : 2   -     
.    ` 60,000; ` 60,000  ` 40,000 ,    
     ? 

   (a) Q   (b) R   

   (c) P   (d)    

  (2)       ________    . 

   (a)   (b)  

   (c)  (d)  

  (3)       ()       
 ? 

   (a)    

   (b)   

   (c)     

   (d)    

  (4)        ?  

   (a)    (b)   

   (c)    (d)   

  (5)      ? 

   (a)   (b)   

   (c)   (d)   

  (6)              
    ? 

   (a)    . 

   (b)    . 

   (c)   . 

   (d)     .  
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2. (A)  .  15,000  ,  ` 100   25%     
 .      : 14 

                                ` 
    20  

    45 ( )  

    40  

                                 20  

  22,500    .   15,000      
          : 

           : 
  (i)   30           .  

     . 
  (ii)   45         .     

  . 
      30    30  , 20 %     

. 
      (  ) . 

 
  (1)   ` 10    2,000   .     ` 7 

 .  ` 4    .    ` 3   
 .      1,200  ` 7     .  ` 5 

 . 
             (  ) 

.   7 

  (2)   :  7 

   (i)      
   (ii)    

 (B)     : ( ) 4 

  (1)             ________  
  . 

   (a)    (b)    
   (c)    (d)    
  (2)       ________   .  
   (a) ` 1  (b)   5%  

   (c) ` 10   (d)    5%  
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  (3)     _______ . 
   (a)   (b)  
   (c)   (d)    
  (4)          ________   

 .  
   (a)    (b)    
   (c)    (d)    
  (5) ` 50              ? 

   (a) ` 5  (b) ` 2.50            
   (c) ` 10  (d) ` 4 
  (6)            ? 

   (a)    

   (b)   

   (c)    

   (d)    

3. (A)   . 31-03-2018        : 14 

 `  ` 

2,00,000    ` 10  
 20,00,000 

  
-  

30,00,000 
6,00,000 

10,000 12 %   
   ` 100   10,00,000 

  
 
 

4,60,000 
9,40,000 
8,00,000 

  2,00,000   

-  4,00,000   

  15,00,000   

 7,00,000   

 58,00,000  58,00,000 

            5%   
 .   -  ` 5,60,000    .  
20,000    ` 10     10% 2,000     

` 100    .        . 
              

          .     
    . 

       (  ) . 
 
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  (1)     .         
             
 .          
          .   
 . . 31-03-2018        : 7 

      ` 

      ` 100 ,  1,12, 00,000 

       36, 00,000 

      56, 00,000 

      28, 80,000 

           (  ) . 
  (2)   :  7 

   (i)      

   (ii)       
 (B)     : ( ) 3 

  (1)       .  
   (a)   (b)  
   (c)   (d)  (a)  (b) 

  (2)             
_______   .  

   (a)   (b)   

   (c)   (d)   

  (3) _______      . 
   (a)      (b)   

   (c)   5  (d)   

  (4)       . 
   (a)   

   (b)   

   (c)     
   (d)    

  (5)       . 
   (a)    

   (b)   
   (c)   
   (d)  (   )   
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4. (A)     . 31-03-2018       : 14 

Particulars ` 

  (` 10  ,  ) 16,00,000 

  1,600 

 3,20,000 

 5,60,000 

   8,40,000 

 80,000 

  3,36,000 

   2,40,000 

  1,93,600 

  1,08,800 

  3,20,000 

 ( ) 68,320 

  96,000 

-  1,60,000 

    4,43,200 

  21,280 

  3,20,000 

   4,00,000 

        . 31-03-2018      2013 
   – 3      . 

  (a) 3,000       . 
  (b)       ` 12,000  .     

    . 
  (c) ` 1, 00,000   6    . 
  (d)    :  - ` 6,40,000,    - ` 11,20,000  

 - ` 1,00,000. 

  (e)   ` 4,000       . 
  (f) ` 4, 40,000       31 , 2018    . 
  (g)      ` 3, 00,000    ,     . 

 
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  (1)   :  7 

   (I) -         . 

   (II)          . 

  (2) , 2013     -   . 
(   ) 7 

 (B)     : ( )  3 

  (1)      _______   . 

   (a)   (b)    

   (c)   (d) -  

  (2)      .  

   (a)     . 

   (b)      . 

   (c)     . 

   (d)    . 

  (3)      ‘ ’   ? 

   (a)     

   (b)    

   (c)      

   (d)   

  (4)        

   (a)    (b)   

   (c)  (d)     

  (5)             ? 

   (a)    (b)  

   (c) -   (d)     

______________ 
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1. (A) (1) Kabir, Arun and Pratik are partners in a firm sharing profit and losses in the 
ratio of 2:2:1 respectively. The balance sheet of their firm as on 31-03-2018 
is as  under : 7 

Liabilities ` Assets ` 

Capital :  Building 1,20,000 

 Kabir  90,000  Machinery 45,000 

 Arun   45,000  Stock 30,000 

 Pratik  30,000 1,65,000 Debtors 60,000 

Arun’s Loan 22,500 Cash on hand 7,500 

Bank Loan (Secured) 37,500 Profit & Loss A/c (Debit) 30,000 

Creditors 67,500   

    

Total 2,92,500 Total 2,92,500 

   The firm was dissolved on 01-04-2018. It was decided that the piecemeal 
distribution of cash may be made after keeping ` 9,000 as a reserve for 
dissolution expenses. 

   The assets realized as under :    `  

   First Installment  60,000  

   Second Installment  45,000  

   Third Installment  65,700  

   Final Installment  37,800  

   Actual dissolution expenses amounted to ` 6,000 

   Prepare a statement showing piecemeal distribution of cash as per  

   “Maximum Loss Method”. 
OR 
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  (1) Write a short note on : “Surplus Capital Method”  7 

  (2) Shivam Ltd. was incorporated on 01-05-2018 to purchase a running 

Business of a partnership firm from 01-01-2018. From the information 

given below for the year ending on 31-12-2018. Prepare a statement 

showing profit prior to incorporation and post incorporation. 7 

   Following information is given related to Profit and Loss A/c: 

    ` 

   Office Expenses  63,900 

   Carriage Outward  24,000  

   Rent   1,56,000  

   Preliminary Expenses 6,000  

   Director’s Fees 20,000  

   Salary 37,800 

   Interest received after 01-07-2018 50,000  

   Selling Expenses (25% variable) 43,200  

   Debenture Interest 10,000  

   Bad Debts (` 1,100 upto 01-05-2018) 3,000  

   Interest on Purchase price 

   (Purchase price paid on 01-06-2018)  6,000  

   Other Details : 

   (i) Advertisement expenses ` 15,000 are included in office expenses. 

   (ii) Average monthly sales of last six months was three times as the 

average monthly sales of first six months. 

   (iii) Gross profit is ` 3, 00,000.  

OR 

  (2) Describe briefly different methods of ascertaining the Profit Prior to 

Incorporation.  7 
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 (B) Select the correct alternative : (Any four) 4 

  (1) P, Q and R are partners sharing profits and losses in the ratio of 6:4:2. If the 

capital of partner P, Q and R are ` 60,000; ` 60,000 and ` 40,000 

respectively then which partner’s capital should be considered as base ? 

   (a) Q’s Capital  (b) R’s Capital 

   (c) P’ s Capital  (d) None of these 

  (2) Bills Receivable discounted now but maturing in future will be subtracted 

from the _____ installment. 

   (a) First  (b) Third 

   (c) Second  (d) Last 

  (3) The Profit earned for the period between the date of purchase of business 

and receipt of certificate of incorporation is called which type of profit ? 

   (a) Capital Profit   

   (b) Revenue Profit  

   (c) Profit to be distributed as a Dividend        

   (d) None of above 

  (4) Consideration of Depreciation on an asset purchased by Firm is in  

   (a) Time Ratio  (b) Sales Ratio 

   (c) Post-incorporation  (d) Pre-incorporation 

  (5) Salesmen’s Commission is divided on the basis of 

   (a) Sale ratio  (b) Time ratio 

   (c) Pre-incorporation  (d) Post-incorporation 

  (6) Under which assumption the amount received on each installment is 

distributed while making Piecemeal Distribution of the firm. 

   (a) All Partners are solvent  

   (b) All Partners are Insolvent 

   (c) Amount will be realized in future 

   (d) No Amount will be realized in future  
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2. (A) Shobhana Ltd. issued 15,000 equity shares of ` 100 each at 25 % premium to 
general public. Amount called up per share was as under : 14 

                                ` 

  Application  20  

  Allotment 45 (Including premium)  

  First call 40  

  Final call                               20  

  Applications were received for 22,500 shares. 15,000 shares were allotted on pro-
rata basis to applicants. Excess money was adjusted against money due on 
allotment.  

  The company received all money except following: 

  (i) Nilesh didn’t pay allotment and first call money on 30 allotted shares. His 
shares were forfeited after first call. 

  (ii) Rashmi didn’t pay both call money on 45 allotted shares. His shares were 
forfeited after second call. 

  30 forfeited shares of Nilesh and 30 forfeited shares of Rashmi are re-issued to 
Ankit at 20 % discount. 

  Pass necessary journal entries with narrations in the books of company. 

OR 

  (1) The directors of a company forfeited 2,000 shares of ` 10 each, ` 7 per 
share has been called up, on which ` 4 per share has been paid up, the 
amount of ` 3 per share of the first call being unpaid. Out of these forfeited 
share, 1,200 shares were re-issued to Mr. P crediting ` 7 per share paid up, 
for the payment of ` 5 per share. 

   Pass journal entries to record forfeiture and re-issue of shares.  7 

  (2) Write short notes on:  7 

   (i) Bought Out Deal  

   (ii) Sweat Equity Shares 

 (B) Select the correct alternative : (Any four) 4 

  (1) When shares are forfeited, then the amount Premium not received on 
forfeited shares is debited to 

   (a) Securities Premium A/c (b) Share Capital A/c 

   (c) Capital Reserve A/c (d) Share Forfeited A/c 

  (2) Minimum amount required to call on application as per Companies Act is  

   (a) Re. 1  (b) 5 % of Face Value  

   (c) ` 10   (d) 5 % of Issue Price 
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  (3) Preference shareholders are _______ of the company. 

   (a) Creditors  (b) Debtors 

   (c) Owners  (d) None of the above 

  (4) If shares are bought back at premium, then amount of premium is credited 
to ________ 

   (a) Share Premium A/c (b) General Reserve A/c  

   (c) Redemption Premium A/c (d) None of the above 

  (5) On Equity Shares of ` 50 each, the minimum application money per share 
should be ______ 

   (a) ` 5  (b) ` 2.50            

   (c) ` 10  (d) ` 4 

  (6) Under which Process the Price per share is not Pre-decided by the  
Company ? 

   (a) Right Share Issue  

   (b) Book building 

   (c) Potential Equity Share Issue  

   (d) Sweat Equity Share Issue 

3. (A) Balance Sheet of Koradiya Ltd. as on 31-03-2018 : 14 

Liabilities ` Assets ` 

2,00,000 Equity shares of               
` 10 each 20,00,000 

Fixed Assets 

Long-Term investments 

30,00,000 

6,00,000 

10,000 12 % Redeemable 
Preference shares of ` 100 
each 10,00,000 

Bank Balance 

Stock 

Debtors 

4,60,000 

9,40,000 

8,00,000 

Securities Premium 2,00,000   

Profit and Loss A/c 4,00,000   

General Reserve 15,00,000   

Creditors 7,00,000   

Total 58,00,000 Total 58,00,000 

  Redeemable Preference Shares are to be redeemed at 5 % premium after 
complying with necessary provisions of Companies Act. All long-term 
investments were sold for ` 5,60,000. The company has decided to issue 20,000 
equity shares of ` 10 each and 10 % 2,000 Cumulative Preference shares of ` 100 
face value at par. Redeemable Preference Shareholders were paid in full. 

  The resultant reserve arising from redemption of redeemable preference shares is 
to be utilized to issue 1 bonus share against 2 equity shares. It was decided to use 
general reserve as minimum as possible. 

  Write journal entries with narrations in the books of Koradiya Ltd. 

OR 
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  (1) Rashmikant Ltd. declared bonus to equity shares. Securities Premium and 
Capital Redemption Reserve were utilised to declare two fully paid bonus 
shares for every five shares held. The company also decided to issue right 
shares as one equity share for every four shares held prior to bonus                
issue. All shareholders have exercised this option. The balances as on date 
31-03-2018, are given below : 7 

    Particulars  ` 

   Equity share capital, each of ` 100  1,12, 00,000 

   Capital Redemption Reserve  36, 00,000 

   Reserve Fund  56, 00,000 

   Securities Premium  28, 80,000 

   Pass necessary journal entries with narrations for recording the above 
transactions in the books of the company. 

  (2) Write short notes on :  7 

   (i) Bonus Shares and Right Shares 

   (ii) Methods of Redemption of Preference Share Capital 

 (B) Select the correct alternative : (Any three) 3 

  (1) Redeemable Preference Shares can be redeemed - 

   (a) At a Par (b) At a Premium 

   (c) At a discount  (d) Both (a) and (b) 

  (2) When preference shares are redeemed at a premium, provision for premium 
amount is made from  

   (a) General Reserve  (b) Securities Premium 

   (c) Capital Reserve  (d) All of the above 

  (3) _______ preference shares cannot be redeemed. 

   (a) Redeemable  (b) Fully paid up 

   (c) Within 5 years of the issue (d) partly paid up 

  (4) Bonus shares cannot be issued from. 

   (a) Securities Premium   

   (b) Capital reserve 

   (c) Profit from revaluation of fixed assets  

   (d) Development Rebate Reserve 

  (5) Generally Bonus Shares are issued to _________ 

   (a) Preference Share Holders (b) Debenture Holders 

   (c) Equity Share Holders (d) Redeemable Preference Share Holders 
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4. (A) The following balances were appeared in the books of Hiriye Co. Ltd. as on          
31-03-2018 : 14 

Particulars ` 

Equity Share Capital (` 10 each fully paid) 16,00,000 

Calls in arrears 1,600 

Land 3,20,000 

Building 5,60,000 

Plant & Machinery 8,40,000 

Furniture 80,000 

General Reserve 3,36,000 

Loan from Yes Bank 2,40,000 

Public Deposits 1,93,600 

Provision for taxation 1,08,800 

Sundry Debtors 3,20,000 

Advances given (Short term) 68,320 

Proposed Dividend 96,000 

Profit & Loss A/c 1,60,000 

Cash & Bank Balance 4,43,200 

Preliminary Expenses 21,280 

Sundry Creditors 3,20,000 

Stock of Raw Material 4,00,000 

  You are required to prepare the Balance Sheet as per schedule III of the 
Companies Act, 2013 on that date 31-03-2018 after taking into account the 
following additional information: 

  (a) 3,000 equity shares were issued for consideration other than cash. 

  (b) Loan from Yes Bank is included ` 12,000 for interest accrued. The loan is 
hypothecated by plant and machinery. 

  (c) Debtors of ` 1, 00,000 are due for more than six months. 

  (d) The cost of assets: Building - ` 6,40,000, Plant & Machinery - ` 11,20,000 
and Furniture - ` 1,00,000. 

  (e) Bank balance includes ` 4,000 with non-scheduled bank. 

  (f) Bills receivable for ` 4,40,000 maturing on 31st July, 2018 have been 
discounted. 

  (g) The company had contract for the erection of machinery at ` 3,00,000 
which is still incomplete. 

OR 
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  (1) Write short notes on :  7 

   (I) Difference between Non-current liabilities and Current Liabilities 
with examples 

   (II) Difference between Trade Receivables and Trade Payables with 
examples. 

  (2) Prepare a Profit & Loss Statement of a Company in accordance with 
Companies Act, 2013 with imaginary figures. (Minimum 4 Notes are 
required) 7 

 (B) Select the correct alternative : (Any three)  3 

  (1) Sinking fund Account is shown in the Balance Sheet under the head of 

   (a) Share Capital A/c  (b) Reserve and Surplus  

   (c) Current Liabilities (d) Non-Current Liabilities 

  (2) In Balance Sheet, the amount of Calls in arrears A/c will be shown as  

   (a) Deducted from authorized share capital 

   (b) Deducted from issued share capital 

   (c) Deducted from called share capital 

   (d) Added in Capital Reserve - 

  (3) Which of the following item is considered as ‘Contingent Liability’ for a 
company ? 

   (a) Proposed Dividend   

   (b) Unclaimed Dividend 

   (c) B/R discounted but not matured  

   (d)  Provision for taxes 

  (4) In Balance Sheet, the amount of closing stock of Finished Goods will be 
shown under the head  

   (a) Trade Receivables  (b) Trade Payables 

   (c) Inventories  (d) Cash and Cash equivalents 

  (5) Staff Pension fund is shown in the Balance Sheet under the head of 

   (a) Other Current Liabilities  (b) Provisions 

   (c) Non-current liabilities  (d) Cash & Cash Equivalent 
______________ 


